ANGLAIS 1/1 085 33A 01
Séries: S1-S2-S4

Epreuvedu 1 groupe

ANSWER KEY

| /READING COMPREHENSION (08 marks)

A/ PARAGRAPH COMPLETION: : (02 marks)
1. lives 2. environment 3. greenhouse 4. wagmi

B/ CONTEXTUAL REFERENCING (01 marks)

5. inventions and advancements 6. The twentititucy

C/ True/ False (03 marks)

7. TRUE : “ However, it is the very ......... environmeahproblems ¢. 1-2)

8. TRUE :“climate changes will result ......... denguedaholera” ¢. 16-17)

9. TRUE : “........ to getthe most .......... regard for future consequence¢’ 24)

D/VOCABULARY IN CONTEXT:
10. easier 11. eventually 12. huge 13. tackle

ID/LINGUISTIC AND COMMUNICATIVE COMPETENCE: (08 marks)

E/ REPHRASING: (03 marks)

14. This is the worst ecological situation we haver experienced
15. Travel has been made quicker and easier byrmekicles

16. We expect warmer temperatures to cause otbblgons.

F/ SENTENCE-LINKING (03 marks)

17. Animals and plants won't survive from sun-réythe ozone layer is completely damaged.
18. Environmental problems are getting worse thaahe nations are making efforts to solve them.

19. Cholera will spread unless more hygienic conmpents are adopted.

G /WORD BUILDING: (02 marks)

20. to succeed 21. travellers 22. useful 23etsar




